
Aufgabe 5. (2 Punkte für = = 2, 4 Punkte für = ∈ N+) Sei D ∈ �2(R=) harmonisch, d.h. es gelte
ΔD = 0. Definiere :(G) := 1

|G |=−2D
(
G
|G |2

)
für G ∈ R= \ {0}. Zeige, dass : in R= \ {0} harmonisch ist.

Lösung.
F(G) = |G |2−=D

(
G |G |−2

)
,

F8(G) = (2 − =)|G |−=G8D + |G |2−=D:
(
�:8 |G |−2 − 2G: |G |−4G8

)
= (2 − =)|G |−=G8D + |G |−=D8 − 2|G |−=−2D:G:G8 ,

F8 9(G) = (−=)(2 − =)|G |−=−2G8G 9D + (2 − =)|G |−=�8 9D + (2 − =)|G |−=G8D:
(
�:9 |G |−2 − 2G: |G |−4G 9

)
− = |G |−=−2G 9D8 + |G |−=D8:

(
�:9 |G |−2 − 2G: |G |−4G 9

)
+ 2(= + 2)|G |−=−4D:G:G8G 9

− 2|G |−=−2D:;G:
(
�;9 |G |−2 − 2G ; |G |−4G 9

)
G8 − 2|G |−=−2D:

(
�:9 G8 + G:�8 9

)
,

ΔF = 0 + (2 − =)|G |−=−2D:G: − 2(2 − =)|G |−=−2D:G: − = |G |−=−2D:G: + |G |−=−2ΔD
− 2|G |−=−4D8 9G 8G 9 + 2(= + 2)|G |−=−2D:G: − 2|G |−=−4D8 9G 8G 9 + 4|G |−=−4D8 9G 8G 9

− 2|G |−=−2D:G: − 2|G |−=−2=D:G:

= 0,

da 2 − = − 4 + 2= − = + 2= + 4 − 2 − 2= = 0 als Vorfaktor verschwindet. �
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